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6 (HETH4  |[#8A0 |65 L AD 6 |[THETH4  |#8AO |65l EAD
(N) (N) [ (AN) (N) teE=
(B/A) (B/A)
A B % A B %

L 10,654 4,736| 445 46|32 7l BT 3,049 1,052 345
2| L&) ET 3,890 1,655 425 47 F )™ 23,534 8,106| 34.4
3| =% 10,189 4324| 424 48| % LL BIFF 1,411 486| 344
4| & FHET 2,530 1,040 411 49| 2 R BB ET 4504 1,551 344
5|IENT 4,361 1,779 408 50|41 & HT 2,839 975| 34.3
6| Aty N ET 5,150 2,019| 392 51| B EH0T 19,359 6,614 34.2
7| F0ZEHET 3,875 1,514 391 52| H{ZHT 5976 2,034| 340
8|18 EHT 5,160 2,006| 38.9 53| LEHT 3,552 1,207 340
9| FRFEh 12,375 4,765 385 54| &% i BT 10,037 3,410 34.0
10| B4 4 1,831 704| 384 55|1— AHT 3,769 1,279 339
11|t Z=EET 2,197 841| 383 56|45 & HT 6,036 2,040 338
12[E Rl 16,703 6,362 38.1 57| B iz BT 3,810 1,286 338
13|i& F HT 3,359 1,278| 38.0 58| &l BT 3,607 1,215/ 33.7
14[;Z 7 BT 5,684 2,159| 38.0 EIELEG: 25,739 8,609 334
15| % I BT 3,341 1,263 37.8 60| ;7 1R ET 5,597 1,857| 33.2
16|27 SFHT 3,705 1,396| 37.7 61| R ZFHET 7,707 2,555| 33.2
17| #E RN 1,033 389| 37.7 HAE3:4:) 10,921 3,620 33.1
18(_E)IIET 4213 1,585 37.6 63| = [E1 BT 5,831 1,932 33.1
19(;%& L AT 3,041 1,141 375 64| A< Il BT 8,265 2,729| 33.0
20|12 EHT 5,052 1,893 375 65|;a%t 1,896 626| 33.0
21 | ¥AHITET 9,050 3,379| 373 66| = AT 2,866 944| 329
22| 5k E A HT 3,534 1,318 373 67| EEHT 4,858 1,597 329
23| & RiTHT 3,585 1,337| 373 68|t/ EHT 5,861 1,924| 3238
24| & =75 HT 9,564 3563| 37.3 69| A AHET 3,197 1,048 328
25| JI| BT 3,654 1,360 37.2 70| RItH 21,804 7,138 327
26| Fk A R BT 2,745 1,015 37.0 71| AT 5,350 1,747 327
27| E3ET 2,229 817| 36.7 72| % |LIET 13,326 4350| 32.6
28| tE T 4,155 1,514| 36.4 73|+ £ )BT 7,154 2,333| 32.6
29|eh 1| BT 1,827 663| 36.3 74|7E BI| BT 10,028 3,266 32.6
30| & 0 A BT 1,702 611| 35.9 R ) 4513 1,463 324
31| R A ERET 6,314 2,263| 35.8 76| = JRIET 4,459 1,443 324
32| #RET 3,358 1,201 358 77 |#r1SET 6,635 2,142| 323
33| HHET 3,607 1,290 358 78| FE L ERAT 1,137 367 323
34[ PR HT 8,041 2,859| 35.6 79| M HET 9,607 3,089| 322
35| %I AT 2,422 859 355 80|/Migmh 131,444| 41,784| 31.8
36 | = 71 BT 2,700 957| 354 81| £ iR HET 5,143 1,634 318
37| R g R AT 1,978 698| 35.3 82| &Il F AT EY 5526 1,755/ 31.8
38| & 1% Rl BT 2,411 846| 35.1 83| R HET 21,069 6,685 31.7
39|/ FHT 3,655 1,282 35.1 84| 5 R BT 3,152 1,000 31.7
40| 3= ET 5,010 1,754 35.0 85|fb)IlITH 18,897 5946| 315
4|3 R=E T 2,887 1,008| 34.9 86| /N K HET 5,407 1,700 314
42| Z ERET 4,384 1,527 348 87| 4L 3CHT 2,971 934| 314
43| Z=FITHET 6,254 2,172 347 88| B #RHAT 9,472 2973| 314
44| 24 FRET 7173 2,488| 34.7 89 ;= EXHT 22,179 6,877| 31.0
45| EH BT 7,656 2,642 345 90| Bk {LLET 5,102 1,576] 30.9




6 (HETH4  |[#8A0 |65 L AD 6 |[THETH4  |#8AO |65l EAD
(N) (N) [ (N) (N) teE=
(B/A) (B/A)
A B % A B %

91| BT 2,196 677| 30.8 136 ERET 28,926 7,762 26.8
92|#h 2N 3,537 1,085 30.7 137|#R=h 29,240 7,831| 26.8
93|55 F /R AT 8,247 2,526| 30.6 138|E R&mM 24,075 6,415| 26.6
94|;&KHET 10,187 3,092 304 139|/\ZEHT 18,793 4999 26.6
95 | i E T 4777 1,449 303 140| 1R ET 6,599 1,754| 26.6
96|ma = B FFHT 2,852 865 30.3 141| B+ 3,394 898 26.5
97| & FHT 8,878 2,685 30.2 142| B FHEH 1,983 518 26.1
98| & HET 14,764 4464 302 143|7B)1ITH 352,083 91,678] 26.0
99| %N A HET 5,134 1,549 30.2 144 |2 B+ 2,537 659| 26.0
100|ZE ™ 94,049 28352 30.1 145|585 AT 13,974 3,620 25.9
101 | K4 ET 5,983 1,793 30.0 146[dt R 124,898 32,132 257
102 | FEABHAT 3,390 1,012| 299 147|;ERET 6,565 1,687| 25.7
103|F Ex HT 5,640 1,683 298 148| & 1,149 295 25.7
104|{R:ZETH 36,654 10925| 29.8 149| L E B F7HT 11,838 3,035| 256
105 T Z=HT7 8,846 2,636 2938 150 | £ 31| BT 27,515 6,960 25.3
106| &3 11,876 3504 295 151|=+2fT 4,698 1,186 25.2
107|H = B FrHT 5,546 1,633 29.4 152|8IE&H 183,718 46,324 252
108 | R HT 17,795 5211 29.3 153| Z Y +£HT 5,380 1,352| 25.1
109| 7= 31144 1,205 351| 29.1 154| #NT™H 38,362 9,619 25.1
110|830l 24,468 7,125| 29.1 155| EE B AT 5674 1,422| 25.1
11| [EFHT 10,634 3,093| 29.1 156 24 31| BT 18,436 4608| 25.0
112|/LERT 8,002 2,325| 29.1 157 (4L AFF 4,086 1,021 250
113| 4% =0T 9,095 2,613 287 158|422 HT 5,752 1,418| 247
114|FOET 6,580 1,889 287 159[#@E™ 38,947 9,388 24.1
115| K Z2HT 8,082 2,319 287 160| F IR AT 8,636 2,048| 23.7
116|EEERAT 4514 1,291 286 161 |15 ST 2,651 625 236
117| Xt HT 3,585 1,025 286 162|A¥FH 60,717 14,235 234
118| B #amh 24,339 6,903| 284 163 | ¥& EI /T 5,952 1,377| 231
119| B &= HT 13,722 3,885 283 164);IRITH 121,695 27,827 229
120|321 BT 7,894 2,234| 283 165|3F =HT 19,374 4429 229
121|& 3™ 51,872 14,672 283 166| LT 168,492 38231 22.7
122|BERET 4,250 1,196 28.1 167(dLIEEH 60,534 13,684| 226
123|#ZEXHET 8,385 2,346| 280 168| = FEHT 45,693 10,219 22.4
124 | ;48 A1 BT 4,057 1,135| 28.0 169|dt 3k 49,031 10,905 22.2
125| £ 1% HAT 21,541 6,018 279 170 | BR # ZEET 9,642 2,125 220
126)5 RR™ 89,585 24,989| 279 171 3= 04T 2,793 606| 21.7
127);&)IlTh 43,313 11,913| 275 172|150 ET 15,353 3,323 21.6
128|#r 7 BT 5,837 1,603 275 173 & /N h 174,022 37,069| 21.3
129|EREE T 279,515  76,739| 275 174|EREH 68,938  14,547| 21.1
130|&&F ™ 30,164 8,244| 2173 175| Rl ET 16,055 3,379| 21.0
131|228 4,386 1,192 27.2 176|#L1R T 1,904,615 394,753| 20.7
132 | FEARAT 7,472 2,027| 27.1 1778 p& BT 20,840 4,065| 195
133|FO=H BT 25,354 6,868 27.1 178| hiZ I HT 24,173 4691 194
134|541 B HT 12,634 3,419| 27.1 179[F&™ 94,250 16,497| 175
135| & B F FFFT 850 229 26.9 biEEEt | 5,500,598 1,365,170 248




